
Faselikevekter,	faseoverganger,	
fasediagram	og	3lstandsligninger	



Fasediagram	P-T	
Koeksistenslinjer	
A-C	Fast	stoff	–	gass	
A-B	Væske	–	gass	
A-D	Fast	stoff	–	væske	
	
	



Fasediagram	P-T	for	CO2	



Fasediagram	P-T,		
finn	smelte-	og	fordampingstemperatur	



Fasediagram	T-ρ





Lennard-Jones	og	Argon	



”Loven”	om	1lsvarendede	1lstander:	
Lennard-Jones	og	Argon	

To	stoffer	1	og	2	
Tilstanden	for	
stoff	1:		
(T1/TC1,P1/PC1)	
Tilsvarer	
3lstanden	for	
stoff	2:	
(T2/TC2,P2/PC2)	
	
	
Reskaler	med	
TC,PC,ρc	



Mange	faser:	is	



KalsiN	og	AragoniN	

Er	kalsiN	eller	aragoniN	stabil	ved	25C	og	1	atmosfære?	

Ved	hvilket	trykk	er	aragoniN	stabilt?	
•  ΔfGK-ΔfGA	=	Δ(TS)	<	0	
•  ΔfGK-ΔfGA	=	-1	kJ/mol	
•  dG	=	VdP	– SdT	+	µdN	
•  ΔGK-ΔGA	=	(VK-VA)ΔP	
•  ΔfGK-ΔfGA+ΔGK-ΔGA	=	103	+	2.78*10-6	ΔP	=	0	
•  ΔP	=	360	MPa	



KalsiN	og	aragoniN	

360	MPa	=	0.36	GPa	=	3.6	kbar	
TeNhet	jordskorpe	2600kg/m3,	=>	z	=	-	p/(rg)	=	14km		



Clausius-Clapeyrons	relasjon	
•  dG	=	VdP	– SdT	
•  =>	Formen	3l	en	fasegrense	i	PT-

diagram	er	giN	av	V	og	S	
•  GA	=	GB	på	fasegrenselinjen	
•  dGA	=	dGB	for	å	forbli	på	linjen	
•  -SAdT+VAdP=-SBdT+VBdP	

•  =>	dP/dT	=	(SA-SB)/(VA-VB)	=	Δs/Δv	
•  dP/dT	=	Δh/(T	Δv)	=	L/(T	ΔV)	
•  ΔS	=	92.9-88.7	J/K	=	4.2	J/K	
•  ΔV	=	36.93-34.15	cm3	=	2.8	cm3	

•  dP/dT	=	1.5	MPa/K	=	0.015	kb/K	=	
0.6	kb/	40	K	



Tilstandsligninger	

•  Ideell	gass:	PV=NkT,							P*=ρ*T*	
•  Virial-ligningen:	P*/(ρ*T*)	=	1	+	ρ	+	ρ2	+ρ3	+…	



Tilstandsligninger	
•  Ideell	gass:	PV=NkT,							P*=ρ*T*	
•  Virial-ligningen:	P*/(ρ*T*)	=	1	+	ρ	+	ρ2	+ρ3	+…	
•  Clausius:	P	(V-Nb)	=	NkT	
•  Nb:	minste	mulige	volum	
•  b	~	molekyldiameter3	~	Vc/(3N)	~	2σ3	



Tilstandsligninger	
•  Ideell	gass:	PV=NkT,							P*=ρ*T*	
•  Virial-ligningen:	P*/(ρ*T*)	=	1	+	ρ	+	ρ2	+ρ3	+…	
•  Clausius:	P	(V-Nb)	=	NkT	
•  Nb:	minste	mulige	volum	
•  b	~	molekyldiameter3	~	Vc/(3N)	~	2σ3	

•  van	der	Waals:	(P+aN2/V2)(V-Nb)	=	NkT	
•  aN2/V2:			

–  potensiell	energi	3l	eN	molekyl	U~N/V	
–  potensiell	energi	3l	alle	molekyl	U~N2/V	
–  Trykk	P	=	dU/dV	=	-	aN2/V2	

•  a	~	3pcvc2	~	8σ3	



(P+8σ3N2/V2)(V-2σ3N)	=	NkT	



•  T’	=	T/Tc,	P	=	P/Pc,	V	=	V/Vc	

•  vdW:	(p’+3/V’2)(V’-1/3)	=	8T’/3	


